
1 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

 
 

 

Reasoning Mega Quiz for RRB NTPC 

 

Q1. Select the odd word/letters/number/number pair from the given alternatives. 

(a) ZBD 

(b) JLN 

(c) QSU 

(d) NOP 

 

Q2. Select the odd word/letters/number/number pair from the given alternatives. 

(a) 1356 

(b) 5497 

(c) 8764 

(d) 9943 

 

Q3. Select the odd word/letters/number/number pair from the given alternatives. 

(a) 79 

(b) 59 

(c) 53 

(d) 75 

 

Q4. A series is given with one term missing. Select the correct alternative from the given ones that 

will complete the series. 

Pranab Mukherjee, Pratibha Patil, APJ Abdul Kalam,? 

(a) Rajendra Prasad 

(b) K.R.Narayanan 

(c) Shankar Dyal Sharma 

(d) V.V.Giri 

 

Q5. A series is given with one term missing. Select the correct 

alternative from the given ones that will complete the series.  

DE, HI, LM,? 

(a) QA  

(b) PR 

(c) PQ 

(d) PU 
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Q6. A series is given with one term missing. Select the correct alternative from the given ones that 

will complete the series.  

PR, VX, BD, ? 

(a) EF 

(b) HI 

(c) HJ 

(d) HK 

 

Q7. A series is given with one term missing. Select the correct alternative from the given ones that 

will complete the series.  

4, 13, 40, 121, ? 

(a) 350 

(b) 360 

(c) 364 

(d) 362 

 

Q8. In this question, two statements are given each followed by two conclusions I and II. You have 

to consider the statements to be true even if they 

seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if 

any, follows from the given statements. 

Statement: 

(I) 28 athletes are facing legal cases due to doping incidents. 

(II) The new wave of Olympic doping cases is based on evidences. 

Conclusions: 

(I) The report of doping is based on the test that happen. 

(II) Doping practice is very common these days among athletes. 

(a) Only conclusion II follows 

(b) Conclusion I and II both follow 

(c) Neither I nor II follow 

(d) Only conclusion I follows 

 

Q9. There are five boys Prem, Raju, Sundar,Hari and Ompal. Raju has more share of land than 

Sundar but lesser than Prem.Ompal has the least share and Hari has lesser share of land than 

Sundar. Who owns the highest share of land? 

(a) Sundar 

(b) Raju 

(c) Hari 

(d) Prem 

 

Q10. Arrange the given words in the sequence in which they occur in the dictionary.  

i. Permanence 

ii. Permanent 

iii. Permafrost 

iv. Permeability 
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(a) ii, iii, iv, i 

(b) iii, ii, i, iv 

(c) iv, ii, i, iii 

(d) iii, i, ii, iv 

 

Q11. Select the related word/letters/number from the given 

alternatives. 

Dissemble : Feign : : Divulge : ? 

(a) Mollify 

(b) Request 

(c) Agree 

(d) Disclose 

 

Q12. Select the related word/letters/number from the given alternatives.  

EF : OP : : ? : ST 

(a) GH 

(b) LM 

(c) JK 

(d) IJ 

 

Q13. Select the related word/letters/number from the given alternatives.  

TZ : GA : : QR : ? 

(a) KN 

(b) RS 

(c) NQ 

(d) JI 

 

Q14. Select the related word/letters/number from the given alternatives.  

15 : 62 : : 16 : ? 

(a) 66 

(b) 64 

(c) 32 

(d) 56 

 

Q15. Select the odd word/letters/number/number pair from the given alternatives. 

(a) Narora 

(b) Rawatbhata 

(c) Tarapur 

(d) Bhilai 

 

Q16. Select the odd word/letters/number/number pair from the given alternatives. 

(a) AIO 

(b) OEU 

(c) UIO 

(d) BOI 
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Q17. Select the odd word/letters/number/number pair from the given alternatives. 

(a) 5611 

(b) 5492 

(c) 8750 

(d) 9911 

 

Q18. Select the odd word/letters/number/number pair from the given alternatives. 

(a) 289 

(b) 484 

(c) 784 

(d) 1331 

 

Q19. A series is given with one term missing. Select the correct alternative from the given ones 

that will complete the series.  

Mohammad Hamid Ansari, Bhairon Singh Shekhawat, Krishan Kant, ? 

(a) Rajendra Prasad 

(b) K.R.Narayanan 

(c) Shankar Dayal Sharma 

(d) V.V.Giri 

 

Q20. A series is given with one term missing. Select the correct alternative from the given ones 

that will complete the series.  

GH, LM, PQ, ST, ? 

(a) UZ 

(b) UY 

(c) UX 

(d) UV 

 

Q21. A series is given with one term missing. Select the correct alternative from the given ones 

that will complete the series.  

Narendra Modi, Manmohan Singh, Atal Bihari Vajpayee, ? 

(a) V.P. Singh 

(b) P.V. Narasimha Rao 

(c) Chandra Shekhar 

(d) Jawaharlal Nehru 

 

Q22. A series is given with one term missing. Select the correct 

alternative from the given ones that will complete the series.  

FU, LO, RI, ? 

(a) PK 

(b) XC 

(c) UF 

(d) RI 
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Q23. A series is given with one term missing. Select the correct alternative from the given ones 

that will complete the series.  

DE, GI, KN, ? 

(a) PS 

(b) PR 

(c) PT 

(d) TP 

 

Q24. A series is given with one term missing. Select the correct alternative from the given ones 

that will complete the series.  

2, 7, 16, ? , 46, 67 

(a) 26 

(b) 27 

(c) 29 

(d) 31 

 

Q25. In this question, two statements are given each followed by two conclusions I and II. You 

have to consider the statements to be true even if they seem to be at variance from commonly 

known facts. You have to decide which of the given conclusions, if any, follows from the given 

statements. 

Statement: 

(I) Determination is the key to success. If a person determines to achieve a certain goal in his or her life, 

no one can stop him/her from achieving it. 

(II) Prioritizing various determined goals is another important aspect of decision making. 

Conclusions: 

(I) If I determine to achieve three goals in near future, my energy will get divided into three parts and I 

can never succeed. 

(II) Making a prior plan for achieving those three things I can get near to all my goals. 

(a) Only conclusion II follows 

(b) Conclusion I and II both follow 

(c) Neither I nor II follow 

(d) Only conclusion I follows 

 

Q26. Five boys are sitting facing towards South. Raj is between Rohit and Vishal. Vishal is to the 

immediate right of Manoj and Manoj is to the immediate right of Shekhar. Who is sitting in the 

middle?  

(a) Vishal 

(b) Manoj 

(c) Raj 

(d) Shekhar 
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Q27. Arrange the given words in the sequence in which they occur in the dictionary. 

i. Application 

ii. Approve 

iii. Appeal 

iv. Astonishing 

(a) ii, iii, iv,i 

(b) iii, ii,i, iv 

(c) iii, i, ii, iv 

(d) i, ii, iii, iv 

 

Q28. If in a certain code language, “STUBBORN” is written as “TUVCANQM”. How is “TRAINING” 

written in that code language? 

(a) USBJMHFM 

(b) USBJMHMF 

(c) JBSUFMHM 

(d) USBJMHME 

 

Q29. If “+” means “minus”, “x” means “divided by”, “÷” means “plus” and “-” means “multiplied by”, 

then 300 × 10 – 5 + 36 ÷ 57 = ? 

(a) 150 

(b) 171 

(c) 230 

(d) 234 

 

Q30. Which of the following interchanges in signs and numbers will make the given equation 

correct? 

7 × 9 + 5 = 68 

(a) + and =, 5 and 6 

(b) + and =, 7 and 9 

(c) x and +, 5 and 7 

(d) x and +, 7 and 9 
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